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AU(BUC)=(4UB)UC

AN(BNC)=(4NB)NC

AN(BUC)=(4NB)U(4NC)
AU(BNC)=(4UB)N(4UC)

AUB={1,2,3,4,5,6,7,9}, BUC={1,2,3,57,9,11}, 4UC={1,2,3,4,5,6,7,11}

ANB={13,5}, BNC={3,57}, ANC={2,3,5} KD
AU(BUC)={1,2,3,4,5,6,7,9,11} (AUB)UC ={1,2,3,4,5,6,7,9,11}
N(BNC)={3,5} (ANB)NC ={3,5}
AN(BUC)={1,2,3,5} (4NB)U(4NC)={1,2,3,5}
AU(BNC)={1,2,3,4,56,7} (4UB)N(4UC)={1,2,3,4,5,6,7} [
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n(ALJBLJC):n(A)+n(B)+n(C)—n(AfWB)—n(Bf}C)—n(CT}A)+n(AfWBr1C)

n(A)+n(B)+n(C)=(a+d+f+g)+(b+d+e+g)+(c+e+f+g)
=a+b+c+2d+2e+2f+3g
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n(A4)+n(B)+n(C)- (A(]B)+n(B(WC)+n(CTWA)
=a+b+c+2d+2e+2f+3g—(d+g)—(e+g)-(f+g)
=a+b+c+d+e+f
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AUBUC=4NBNC, ANBNC=4AUBUC
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AUBUC=(4UB)UC=(4UB)NC=(4NB)NC=4NBNC
ANBNC=(4NB)NC =(4NB)UC=(4UB)UC=4UBUC




